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(i)28x*+56x
_ 28FX*X*X*X
28*2*x
_ X*X*X

(iH—-36y°+9y?

_—9F4*y*y*y

o 9*y*y

:_4y

(iii))66pg°ri=11qr?

_11*6* p*q*q*r*r*r

B 11*g*r*r

=6pgr

(iv)34x3y3z3+51xy?z>
17*2*X*X*X*y*y*y*z*z*z

17*3*X*y*y*z*z*z
_2FX*X*Y
=

_2.»

_§Xy

(v)12a®b®+(—6a°b?)
__6*2*(a*a*a*a*a*a*a*a)*(b*b*b*b*b*b*b*b)
B —6(a*a*a*a*a*a)*(b*b*b*b)

_ 2*a*a*b*b*b*b

1

=2a’b*
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(i) (5x*—6x)=+3x

(i) (3y*—4y°+5y")+y*
3y® 4y°®  5y*
Nt
y y y
=3y*-4y®’+5
(iii) 80CY?Z?+x?y°Z%+x%y?7®)+4x?y?7?

_ 8X3y222 8X2y322 8X2y223
- 4x2y222 4x2y222 4x2y222
=2X+2y+27

=2(X+y+2)

(iv) OC+2x%+3x)+2x
=X(x*+2x+3) +2x

_ X(X?+2x+3)

B 2X

=% (+2x+3)

W) (P°a*-p°g?)+piy®
_ p9’(@®-p?)
IS

=of-p°
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() (10x—25)=+5
_ 5(2x -5)

5
=2x-5

(i) (LOx—25)+(2x-5)
_ 5(2x-5)

~ (2x-5)

=5

(iii)10y(6y+21)+5(2y+7)

_ 5*2y*3(2y+7)
52y+7)

(iv)9x?y?(32—24)+27xy(z—8)
_ 9*x?y**3(z-8)
9*3xy(z-8)

(v)96abc(3a—12)(5b—30)=+144(a—4)(b—6)
_12*2*4abc*3(a—4)*5(b—6)
 12*12*(a—4)(b-6)

=10abc
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()H)5(2x+1)(Bx+5)+(2x+1)
_ 5(2x+1)(3x+5)

O (2x+))

=5(3x+5)

(i) 26xy(x+5) (y—4)=13x(y—4)
_ 2*13xy(x+5)(y—4)

B 13x(y—4)

=2y(x+5)

(ii)52par(p+q) (q+r)(r+p)+=104pq(q-+r)(r+p)
_52par(p+q)(q+r)(r+p)
2*52pq(q+r)(r+ p)

1
="r(p+
5 (p+0q)

(iv)20(y+4)(y*+5y+3)+5(y+4)
=4*5(y+4)(y*+5y+3)+5(y+4)
=4(y*+5y+3)

(WVIX(X+1)(X+2)(x+3)+x(x+1)
=(x+2)(x+3)
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() (y*+7y+10)+(¥+5) (y*+7y+10)
= y?+2y+5y+10 =(y+2)
=y(y+2)+5(y+2)
=(y+2)
(i) (M*—14m—32)=(m+2) (m*-~14m-32)
=m*-16m+2m-32
=m(m-16)+2(m-16)
=(m-16)
(i) (5p>—25p+20)~(p—1) (5p°—25p+20)
=5{p>-5p+4}
=5{p”-p-4p+4}
=5{p(p-1)-4(p-1)}
2 o G
(iv)4yz(z°+62—16)~+ 4yz(z°+6z-1
- =4yz{z°+82-22-16}
=4yz{z(z+8)-2(z+8)} =2z(z-2)
=4yz{(z+8)(z-2)}
=4yz (z-2)

(v)5pa(p’—q2)+2 5pg(p°—q’ _5 .
B = iqﬂ(p-q) 2 AP

(vi)12xy(9x2—16y2)+4- 12xy(9x*~16y°)
=12xy{(3x)%-(4y)*}
=12xy{(3x+4y)(3x-4y)}
=12“(3x—4y)
(vi)39y3(50y°>—98)+26)2(By+7) | 39y°>(50y°—98)
=39y°>*2*{(25y*-49)} | =3y(5y-7)
=78y°*{(5y)*-(7)*}

=78y>{(5y+7)(5y-7)}

=3(3x-4y)






